ASN Senior Secondary School
SOCIAL SCIENCE (CODE 087)
CLASS X — SESSION 2019-20
Pre- Board Examination

Time Allowed: 3 Hours Maximum Marks: 80
General Instructions:

I. The question paper has 35 questions in all.

ii. Marks are indicated against each question.

iii. Questions from serial number 1 to 20 are objective type questions. Each question carries one mark.
Answer them as instructed.

iv. Questions from serial number 21 to 28 are3 marks questions. Answer of these questions should not exceed
80 words each.

v. Questions from serial number 29 to 34 are 5 marks questions. Answer of these questions should not exceed
120 words each.

vi. Question number 35 is a map question of 6 marks with two parts - 35 a. from History (2 marks) and 35b.
from Geography (4 marks).

SECTION -A
VERY SHORT ANS. QUESTIONS

1 Match the following items given in column A with those in column B.: and choose the correct answer from
the options given below

A B
1.Raja Ram Mohan Roy. a Kesari
2.Jyotiba Phule. b Amar Jiban
3.Bal Gangadhar Tilak. ¢ Gulamgiri
4.Rashundari Debi d Samvad Kaumudi
A. 1d,2c,3a,4b
B. 1b,2a,3c,4d
C. 1b,2a,3d,4c
D. 1a,2b,3c,4d 1

2 Simon Commission enraged Indians because
A. Non-inclusion of Indian members in it
B. Gave offer of Dominion Status
C. Both A&B
D. None of the above

3 Study the picture and answer the question that follows

In the given image of Germania , What does The Olive crown signify
A. Willingness to make peace
B. Readiness to fight
C. Heroism
D. Symbol of German empire-strength




4 Who remarked “when France sneezes the rest of Europe catches cold?

5 This soil develops on crystalline igneous rocks in areas of low rainfall
A. Red Soil

B Laterite soil

C Alluvial solil

D Black soil

6. What does HDI stand for?
OR
Name the organisation that calculates per capita income of countries to compare development.

7 Coal in India is found in 2 geological ages namely ........ and .........

8 Correct the following statement and rewrite:

System of checks and balances places the government organs under each other.
OR

Federal system allows each level of govt. to check each other.

9. Which one of the following option best signifies this cartoon?

¥

A. Demand for separate state from Democratic Government

B. Democratic Government is facing territorial issues
with the bordering states

C. Democratic Government is coping with multiple pressures through
accommodation

D. Democratic Government accepts demands based on separate state

10.Give one word for the following
A person who fights for equal rights for men and women.............
11 In India who has the power to legislate on residuary subjects?
OR
In which type of federation central government is more powerful than state governments?

12. Mention two non-economic indicators to measure development.



13.Fuse wires, watches, paint brushes are examples of
A Heavyweight industry
B Lightweight industries
C Agro based industries
D Basic industries 1

14 . State whether the following statement is true or false
H&J, a Korean garment production company ,is a multinational company as it gets export orders from America.

1
15. GDP refers to

Sum of money value of final goods produced in all sectors in a year

Sum of all goods produced in an economy in a year

Sum of money value of all final goods and services produced in all the sectors in a year

All of the above 1

DOwP

16. Lifting Trade barriers is called liberalisation of.......... 1
OR

International trade is regulated by......................... Organisation. 1

17 . “Money in your pocket cannot buy everything” give one example to prove the statement. 1

18. I. Processing wheat into flour
ii. Growing wheat
iii. Sale of biscuits in market
iv. Processing flour into biscuits
The correct order of above value addition chain is
A. il iv
B. ii., i.,iv.iii
C. il,iv.,1.,iii
D. i., iii.,iv. ii 1
19 In the question given below, there are two statements marked as Assertion (A) and Reason (R). Read the
statements and chose the correct option:
Assertion (A): The secondary sector contributes more than 20% to GDP of India..
Reasoning ( R) : The secondary sector supports the development of primary and tertiary sector.

a. Both Aand R are true and R is the correct explanation of A.
b. Ais correct but R is wrong.
c. Aiswrong but R is correct.
d. Both A and R are correct but R is not the correct explanation of A 1
20 Which of the following is not an example of collateral
A. Property Papers
B. Duration of loan
C. Livestock
D. Bank deposits 1

SECTION-B
SHORT ANSWER QUESTIONS
21. Evaluate the role of folklore, songs and popular prints in shaping Nationalism in India.
OR
How did Issue of Dalits influence Civil disobedience movement? 3

22 Why did Europeans flee to America in nineteenth century? Explain. 3



OR
How did European companies establish control over Indian trade towards middle of 18" century?

23 Read the source given below and answer the questions that follows

Source : Not everyone welcomed the printed book and those who did also had fears about it. Many were
apprehensive of the effects that the easier access to the printed word and the widest circulation of books,
could have on people’s minds. It was feared that if there was no control over what was printed and read
then rebellious religious and irreligious thoughts might spread. If that happened the authority of ‘valuable’
literature would be destroyed. Expressed by religious authorities and monarchs as well as many writers
and artists, this anxiety was the basis of widespread criticism of the new printed literature that had begin
to circulate.

Ques. Why were some people apprehensive of influence of printed books? 3

24. “Under globalisation the farmers in India exposed to increased competition” Mention three ways by which
they can overcome this challenge posed by globalisation. 3

25. Discuss the steps taken for strengthening local self-government in India. 3
26 “Democracy stands much superior in promoting dignity and freedom of the citizens” Justify. 3

27 Discuss what necessitates RBI’s supervision of Banks?

3
OR
How does use of money make exchange of goods and services easier? Give example.
28. How does public sector contribute to economic development? 3
SECTION-C

LONG ANS. QUESTIONS
29 What steps were taken by Napoleon to make the administrative system more efficient in the territories ruled
by him?
. OR
Describe the process of German unification. 5
30 Read the extract and answer the questions that follows: Over drawing of groundwater reserves by industry
where there is a threat to groundwater resources also needs to be regulated legally. Particulate matter in the air can
be reduced by fitting smokestacks to factories with electrostatic precipitators, fabric filter, scrubbers and interior
separators. Smoke can be reduced by using oil or gas instead of coal in factories machinery and equipment can be
used and generator should be fitted with silencers. Almost all machinery can be redesigned to increase energy
efficiency and reduce noise. Noise absorbing material may be used apart from personal use of ear plugs and earphones.
The challenge of sustainable development requires integration of economic development with environmental
concerns.
Ques. Explain, in context of industries, how environmental concerns can be integrated with economic development.

31 Explain the role played by means of transport and communication in promoting national and international
trade? 5
32 Is political expression of caste always explosive? Justify your answer. 5

33 Elucidate measures to reform political parties.
OR
Examine the functions of political parties. 5
34 Why do MNCs set up their operations in different regions of the world? State impacts of such operations
on local producers and consumers. 1+4



MAP SKILL BASED QUESTION 35 (a) Two places A and B have been marked on the given outline map of
India. Identify them and write their correct names on the lines drawn near them
A) The place of Indian national congress session

B) The place where Gandhiji organised satyagraha for cotton mill workers 1+1
b) On the same outline map of India locate and label any four of the following

. 1. Kandla-Major Sea Port

ii. Software Technology Park of West Bengal

iii.Bhadravati- Iron and Steel industry

iv. Kalpakkam- Nuclear Power Plant

v. Raniganj- Coal mine

vi. Raja Sansi- International Airport 4

Map for Q35



